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Question Number : 1 Question Id : 2549896413 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the decimal equivalent of the binary number (10111)?

Options :

1.  32

2.  15

3.  23

4.  51

   

Question Number : 1 Question Id : 2549896413 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ि्षआधारी सं̧ या (बाइनरी नंबर) (10111) का दशमलव समतुÒय ·या है?

Options :

1.  32

2.  15

3.  23

4.  51

   



Question Number : 2 Question Id : 2549896503 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a spreadsheet software?

Options :

1.  MS-Excel

2.  Google Sheets

3.  Zoho Sheets

4.  MS-Word

   

Question Number : 2 Question Id : 2549896503 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏन मƶ से कौन सा एक ×Ēेड शीट सॉÌटवेयर नहƭ है?

Options :

1.  MS-Excel

2.  गूगल शीट्स (Google Sheets)

3.  जोहो शीट्स  (Zoho Sheets)

4.  MS-Word

   

Question Number : 3 Question Id : 2549896580 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The binary number system has a base:

Options :

1.  2

2.  4



3.  8

4.  16

   

Question Number : 3 Question Id : 2549896580 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

बायनरी सं¸या Ēणाली का आधार ·या होता है?

Options :

1.  2

2.  4

3.  8

4.  16

   

Question Number : 4 Question Id : 2549896840 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HDMI is used for high-definition digital audio and video. 

 

What does HDMI stand for?

Options :

1.  High Definition Multimedia Interface

2.  High Density Multimedia Interface

3.  High Definition Managed Interface

4.  Heap Definition Multimedia Interface

   

Question Number : 4 Question Id : 2549896840 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



HDMI का उपयोग हाई-डेिफिनशन िडिजटल ऑिडयो और वीिडयो के िलए िकया जाता है। 
 

HDMI िकसका सिं³Ëत ƞप है? 

Options :

1.  High Definition Multimedia Interface

2.  High Density Multimedia Interface

3.  High Definition Managed Interface

4.  Heap Definition Multimedia Interface

   

Question Number : 5 Question Id : 2549896909 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is popular programming language for developing multimedia web pages, 

websites and web-based applications?

Options :

1.  COBOL

2.  Java

3.  BASIC

4.  Assembler

   

Question Number : 5 Question Id : 2549896909 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

मÒटीमीिडया वेब पेजेस, वेबसाइट्स और वेब-बे×ड ऐËलीकेशÊस को डेवलप करने के िलए िनÏन मƶ से कौन सी लोकिĒय ĒोĀािमɞग 
लƹ¹वेज है?

Options :

1.  COBOL

2.  Java

3.  BASIC



4.  Assembler

   

Question Number : 6 Question Id : 2549896959 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who amongst the following designed and implemented the C++ programming language?

Options :

1.  Bjarne Stroustrup

2.  Linus Torvald

3.  Sabir Bhatia

4.  Guido Von Rossom

   

Question Number : 6 Question Id : 2549896959 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से िकसने C++ ĒोĀािमɞग भाषा को िडजाइन तथा कायाµिÊवत िकया?

Options :

1.  बजेनµ ×Ĉॉ×टʑप

2.  लाइनस टॉरवाÒड

3.  सबीर भािटया

4.  गुइडो वॉन रोसोम

   

Question Number : 7 Question Id : 2549896994 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In terms of Computer Architecture, the terminology CISC is the acronym of ______.

Options :



1.  Complete Instrcution Special Computer

2.  Complex Instruction Special Computer

3.  Complete Instruction System Computer

4.  Complex Instruction Set Computer

   

Question Number : 7 Question Id : 2549896994 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कंËयटूर आिकɞटे·चर के संदभµ मƶ, CISC का सिं³Ëत ƞप ______  है।

Options :

1.  Complete Instruction Special Computer (कÏपलीट इं×Ĉ·शन ×पेशल कंËयूटर)  

2.  Complex Instruction Special Computer (कॉÏËले·स इं×Ĉ·शन ×पेशल कंËयटूर)

3.  Complete Instruction System Computer (कÏपलीट इं×Ĉ·शन िस×टम कंËयटूर)  

4.  Complex Instruction Set Computer (कॉÏËल·ेस इं×Ĉ·शन सेट कंËयटूर)

   

Question Number : 8 Question Id : 2549897037 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The word processing feature that catches most random typographical errors and misspellings is 

known as _____.

Options :

1.  Vision checker

2.  Spell checker

3.  review

4.  byte

   

Question Number : 8 Question Id : 2549897037 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 



: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

वडµ Ēोसेिसɞग फीचर जो सबसे याơि¼छक टाइपोĀािbकल čुिटयǂ और गलत वतµनीǓ को पक`ता है उसे _____ के ƞप मƶ जाना जाता 
है।

Options :

1.  िवजन चेकर

2.  ×पले चेकर

3.  िरȅू

4.  बाइट

   

Question Number : 9 Question Id : 2549897048 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ is a technology that recognizes text within a digital image.

Options :

1.  OMR

2.  POS

3.  OCR

4.  MSI

   

Question Number : 9 Question Id : 2549897048 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

________ एक ऐसी तकनीक है जो िडिजटल इमेज के भीतर टे·×ट को पहचानती है।

Options :

1.  OMR

2.  POS

3.  OCR



4.  MSI

   

Question Number : 10 Question Id : 2549897607 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ circuit is an assembly of electronic components, like transistors, fabricated as a single unit.

Options :

1.  Integrated

2.  Wired

3.  Layout

4.  Line

   

Question Number : 10 Question Id : 2549897607 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ सिकɞट एक एकल इकाई के ƞप मƶ िनिमɞत Ĉांिज×टर जैसे इले·Ĉॉिनक उपकरणǂ का एक समूह है।

Options :

1.  इंटीĀेटेड (Integrated)

2.  वायडµ (Wired)

3.  लेआउट (Layout)

4.  लाइन (Line)

   

Question Number : 11 Question Id : 2549898543 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A Linux command which is used to create, view and concatenate the files is known as:

Options :



1.  cd

2.  rm

3.  mkdir

4.  cat

   

Question Number : 11 Question Id : 2549898543 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक िलन·स कमांड िजसका उपयोग फाइलǂ को बनाने, देखने और संशृंखिलत (concatenate) करने के िलए िकया जाता है, उसे 
______ के ƞप मƶ जाना जाता है।

Options :

1.  cd

2.  rm

3.  mkdir

4.  cat

   

Question Number : 12 Question Id : 25498913749 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A bus which is used to provide communication between the major components of a computer is 

called a ______ bus.

Options :

1.  control

2.  system

3.  data

4.  address

   

Question Number : 12 Question Id : 25498913749 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कंËयटूर के Ēमुख घटकǂ के बीच संचार Ēदान करने के िलए उपयोग की जाने वाली बस (bus) को ______ बस कहा जाता है।

Options :

1.  कंĈोल

2.  िस×टम

3.  डेटा

4.  एĊेस

   

Question Number : 13 Question Id : 25498913756 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following ports is also known as Parallel Port?

Options :

1.  LPP

2.  LPI

3.  LPR

4.  LPT

   

Question Number : 13 Question Id : 25498913756 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से िकस पोटµ को पैरेलल पोटµ के नाम से भी जाना जाता है?

Options :

1.  LPP

2.  LPI

3.  LPR



4.  LPT

   

Question Number : 14 Question Id : 25498930062 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A PC is a register in the CPU containing the address of the next instruction to be executed from 

memory. 

 

What does PC stand for in the given context?

Options :

1.  Peripheral Counter

2.  Postpone Counter

3.  Program Counter

4.  Personal Counter

   

Question Number : 14 Question Id : 25498930062 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPU मƶ, PC एक रिज×टर है िजसमƶ मेमोरी से िनÖपािदत होने वाले अगले िनदƷश का पता होता है। 
 

िदए गए संदभµ मƶ PC का सिं³Ëत ƞप ______ है।

Options :

1.  Peripheral Counter (पेिरफेरल काउंटर)

2.  Postpone Counter (पो×टपोन काउंटर)

3.  Program Counter (ĒोĀाम काउंटर)

4.  Personal Counter (पसµनल काउंटर)

   

Question Number : 15 Question Id : 25498930914 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operators is used as a 'Not equal to' operator in MS-Excel?

Options :

1.  !=

2.  <>

3.  <

4.  >

   

Question Number : 15 Question Id : 25498930914 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel मƶ िनÏनिलिखत मƶ से कौन से ऑपरेटर का Ēयोग 'नॉट इ·वल टू' ऑपरेटर के ƞप मƶ िकया जाता है?

Options :

1.  !=

2.  <>          

3.  <

4.  >

   

Question Number : 16 Question Id : 2549898154 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ ए·सेस कंĈोल िस×टम का एक उदाहरण नहƭ है।

Options :

1.  पाम ×कैन

2.  रेिटना ×कैन

3.  वॉइस िरकॉ¹नीशन



4.  िवनि_प

   

Question Number : 16 Question Id : 2549898154 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ is NOT an example of an access control system.

Options :

1.  Palm scan

2.  Retina scan

3.  Voice recognition

4.  WinZip

   

Question Number : 17 Question Id : 2549899601 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन सा िĒɞटर अ³र बनाने के िलए डॉट्स का पैटनµ उÆपȃ करता है?

Options :

1.  बƹड िĒɞटर

2.  डे_ी Ôहील िĒɞटर

3.  डॉट मैिĈ·स िĒɞटर

4.  इंकजेट िĒɞटर

   

Question Number : 17 Question Id : 2549899601 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following printers produces a pattern of dots to form characters?

Options :



1.  Band printer

2.  Daisy wheels printer

3.  Dot matrix printer

4.  Inkjet printer

   

Question Number : 18 Question Id : 25498910772 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______, िवɞडो सवµर मƶ िĒɞटर, Ċाइवर, ·य ूऔर शेयसµ के Ēबंधन के िलए िडवाइस उपलÍध कराने का एक कƶ ďीकृत ×थान है।

Options :

1.  िĒɞट मैनेजमƶट कंसोल

2.  िĒɞट bोÒडर

3.  िवɞडोज िस·यिूरटी सƶटर

4.  नेटवकµ  bोÒडर

   

Question Number : 18 Question Id : 25498910772 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ______ is a centralised location for providing the tools for managing printers, drivers, queues 

and shares in a Windows server.

Options :

1.  Print Management Console

2.  Print folder

3.  Windows Security Center

4.  Network folder

   

Question Number : 19 Question Id : 25498911209 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 



: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ मानक इले·Ĉॉिनक संगीत उपकरणǂ, जैसे इले·Ĉॉिनक कीबोडµ इं×टʔमƶट्स और पसµनल कंËयटूर के िलए एक संचार Ēोटोकॉल 
को पिरभािषत करता है।

Options :

1.  Musical Instrument Digital Instance (MIDI)

2.  Musical Instrument Digital Interface (MIDI)

3.  Musical Instrument Direct Interface (MIDI)

4.  Musical Input Digital Interface (MIDI)

   

Question Number : 19 Question Id : 25498911209 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ______ standard defines a communication protocol for electronic music devices, such as 

electronic keyboard instruments and personal computers.

Options :

1.  Musical Instrument Digital Instance (MIDI)

2.  Musical Instrument Digital Interface (MIDI)

3.  Musical Instrument Direct Interface (MIDI)

4.  Musical Input Digital Interface (MIDI)

   

Question Number : 20 Question Id : 25498913407 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ĉांसफॉमµ कोिडɞग ______ के िलए एक सामाÊय योजना है।

Options :

1.  हािनरिहत इमेज असंपीडन

2.  हािनसिहत इमेज संपीडन



3.  हािनरिहत इमेज संपीडन

4.  हािनसिहत इमेज असंपीडन

   

Question Number : 20 Question Id : 25498913407 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Transform coding is a general scheme for ______.

Options :

1.  lossless image decompression

2.  lossy image compression

3.  lossless image compression

4.  lossy image decompression

   

Question Number : 21 Question Id : 25498913919 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IPv6 हेडर का आकार िकतना होता है?

Options :

1.  20 बाइट्स

2.  16 बाइट्स

3.  32 बाइट्स

4.  40 बाइट्स

   

Question Number : 21 Question Id : 25498913919 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the size of the IPv6 header?



Options :

1.  20 bytes

2.  16 bytes

3.  32 bytes

4.  40 bytes

   

Question Number : 22 Question Id : 25498918458 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3D िĒɞटर का मु¸य लाभ यह है िक यह उपयोगकताµǓ को ______ मƶ व×तुǓ को िĒɞट करने की अनुमित देता है।

Options :

1.  3D

2.  2D

3.  1D

4.  4D

   

Question Number : 22 Question Id : 25498918458 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main advantage of a 3D printer is that it allows users to print objects in ______ .

Options :

1.  3D

2.  2D

3.  1D

4.  4D

   

Question Number : 23 Question Id : 25498918469 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 



: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ले_र िĒɞटर मƶ चणूµ के ƞप मƶ Ēयǣु होने वाली काली ×याही को ______ कािĈɞज कहा जाता है।

Options :

1.  इंक

2.  टोनर

3.  िम·×ड

4.  िरबन

   

Question Number : 23 Question Id : 25498918469 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The powdered black ink used by laser printers is called ______ cartridge.

Options :

1.  ink

2.  toner

3.  mixed

4.  ribbon

   

Question Number : 24 Question Id : 25498918551 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ िस×टम के ĒÆयके उपयोगकताµ की पहचान करने और उन उपयोगकताµǓ के साथ िनÖपादन कायµþमǂ को जो`ने के िलए 
संदिभɞत करता है।

Options :

1.  वन टाइम पासवड्µस

2.  ऑथƶिटकेशन

3.  ĒोĀाम Ďेट्स



4.  िस×टम Ďेट्स

   

Question Number : 24 Question Id : 25498918551 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(A/An) ______ refers to identifying each user of the system and associating the executing programs 

with those users.

Options :

1.  One Time passwords

2.  Authentication

3.  Program Threats

4.  System Threats

   

Question Number : 25 Question Id : 25498919268 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

________ Ēोटोकॉल उपयोगकताµǓ को मेलबॉ·स तक पƓचँने और अपने कंËयटूर पर संदेश डाउनलोड करने का एक सरल, 
मानकीकृत तरीका Ēदान करता है।

Options :

1.  SMTP

2.  POP3

3.  HTTP

4.  TELNET

   

Question Number : 25 Question Id : 25498919268 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The ______ protocol provides a simple, standardized way for users to access mailboxes and 

download messages to their computers.

Options :

1.  SMTP

2.  POP3

3.  HTTP

4.  TELNET

   

Question Number : 26 Question Id : 25498919314 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से ·या Ĕाउजर की िवशेषता नहƭ है?

Options :

1.  नेिवगेशन बटन 

2.  टैÍड Ĕाउि_ɞग 

3.  बुकमा·सµ

4.  bाइल कÊव_µन

   

Question Number : 26 Question Id : 25498919314 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a feature of a browser?

Options :

1.  Navigation buttons

2.  Tabbed browsing

3.  Bookmarks

4.  File conversion

   



Question Number : 27 Question Id : 25498919367 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन सा कीबोडµ शॉटµकट गूगल þोम मƶ इÊकॉि¹नटो मोड मƶ एक नई िवɞडो खोलने के िलए उपयोग िकया जाता है?

Options :

1.  Shift 

2.  Ctrl+N

3.  Ctrl+A

4.  Ctrl+shift+N

   

Question Number : 27 Question Id : 25498919367 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut is used to open a new window in incognito mode in 

Google Chrome?

Options :

1.  Shift 

2.  Ctrl+N

3.  Ctrl+A

4.  Ctrl+shift+N

   

Question Number : 28 Question Id : 25498922677 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यिद आप िजस टे·×ट को टाइप कर रहे हƹ वह आपके ्षारा पहले िलखे पुराने टे·×ट को ओवरराइट कर रहा है तो इसे रोकने के िलए 
आपको ·या करना चािहए?

Options :

1.  'Insert' दबाएं



2.  'Shift' दबाएं

3.  'Caps Lock' दबाएं

4.  'Tab' दबाएं

   

Question Number : 28 Question Id : 25498922677 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the text that you are typing is overwriting the old text that you have already written, what option 

can you use to stop this occurrence?

Options :

1.  Press 'Insert'

2.  Press 'Shift'

3.  Press 'Caps Lock'

4.  Press 'Tab'

   

Question Number : 29 Question Id : 25498924435 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

टाइमशेयिरɞग ऑपरेिटɞग िस×टम के संबंध मƶ कौन एक तÇय सही नहƭ है?

Options :

1.  यह शीā Ēितिþया (quick response) का लाभ Ēदान करता है

2.  साòटवेयर की Ēितिलिप (duplication) होने से रोकता है

3.  सीपीयू के िनिÖþय समय (idle time) को कम करता है

4.  इसमƶ सुर³ा और सÆयता संबंधी िकसी सम×या का सामना नहƭ करना प`ता है

   

Question Number : 29 Question Id : 25498924435 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true with respect to a timesharing operating system?

Options :

1.  Provides the advantage of quick response

2.  Avoids duplication of software

3.  Reduces CPU idle time

4.  No security and integrity issues

   

Question Number : 30 Question Id : 25498925347 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

जब आप कंËयूटर को ______ मोड मƶ रखते हƹ, तो यह िबजली की खपत को पूरी तरह से काटकर अपनी िपछली ि×थित को बनाए रखते 
Ɠए कंËयटूर को बंद कर देता है।

Options :

1.  ×लीप

2.  शटडाउन

3.  री×टाटµ

4.  हाइबरनेट

   

Question Number : 30 Question Id : 25498925347 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When you put the computer in ______ mode, it powers down the computer while maintaining its 

previous state by totally cutting off power consumption.

Options :

1.  Sleep

2.  Shut down

3.  Restart



4.  Hibernate

   

Question Number : 31 Question Id : 2549896466 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an E-mail client?

Options :

1.  Microsoft Outlook

2.  Internet explorer

3.  Netscape navigator

4.  Chrome

   

Question Number : 31 Question Id : 2549896466 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन सा एक ई-मेल ·लाइंट है?

Options :

1.  Microsoft Outlook

2.  Internet explorer

3.  Netscape navigator

4.  Chrome

   

Question Number : 32 Question Id : 2549896513 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For locating any document on the World Wide Web, there is a unique address known as:

Options :



1.  Domain name

2.  E-mail

3.  Modem

4.  URL

   

Question Number : 32 Question Id : 2549896513 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

World Wide Web पर िकसी भी द×तावे_ का पता लगाने के िलए एक अनोखे एĊेस को ·या कहते है?

Options :

1.  डोमेन नाम

2.  ई-मेल

3.  मोडम

4.  URL

   

Question Number : 33 Question Id : 2549896574 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The information to be communicated in a communication system is called:

Options :

1.  Medium

2.  Protocol

3.  Message

4.  Netiquette

   

Question Number : 33 Question Id : 2549896574 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

संचार Ēणाली मƶ संĒिेषत करने वाली जानकारी को ·या कहा जाता है?

Options :

1.  मीडीअम

2.  Ēोटोकॉल

3.  मेसेज

4.  नेिटकेट (Netiquette)

   

Question Number : 34 Question Id : 2549897101 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Gmail, which of the following symbols is used to mark important messages?

Options :

1.  # (hash)

2.  $ (dollar)

3.  + (plus)

4.  * (star)

   

Question Number : 34 Question Id : 2549897101 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

महÆवपूणµ संदेशǂ को िचिÊहत करने के िलए Gmail मƶ िकस संकेत का उपयोग िकया जाता है?

Options :

1.  # (हैश)

2.  $ (डॉलर)

3.  + (Ëलस)

4.  * (×टार)

   



Question Number : 35 Question Id : 2549897393 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function key is used to go to the next field in MS Word?

Options :

1.  F10

2.  F2

3.  F11

4.  F8

   

Question Number : 35 Question Id : 2549897393 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word मƶ अगली bीÒड मƶ जाने के िलए कौन सी फं·शन कुंजी का उपयोग िकया जाता है?

Options :

1.  F10

2.  F2

3.  F11

4.  F8

   

Question Number : 36 Question Id : 2549897454 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the margin of a page when narrow option is selected for left and right while printing a 

document in MS Word 2010?

Options :

1.  1 inch, 1 inch

2.  1 inch, 0.5 inch



3.  0.5 inch, 0.5 inch

4.  1 inch, 1.25 inch

   

Question Number : 36 Question Id : 2549897454 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2010 मƶ एक द×तावे_ की छपाई करते समय एक सामाÊय पृȎ के दाए ँऔर बाए ँके िलए संकीणµ (नैरो) िवकÒप का चयन 
करते समय पृȎ का मािजɞन ·या होता है?

Options :

1.  1 inch, 1 inch

2.  1 inch, 0.5 inch

3.  0.5 inch, 0.5 inch

4.  1 inch, 1.25 inch

   

Question Number : 37 Question Id : 2549897460 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Generally, what is the smallest and largest font size available for selection in the drop down list in 

the Font Size tool in MS Word document?

Options :

1.  8,64

2.  10,70

3.  8,72

4.  8,78

   

Question Number : 37 Question Id : 2549897460 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



सामाÊयतः, MS Word द×तावे_ मƶ bॉÊट आकार उपकरण मƶ Ċॉप डाउन सूची मƶ चयन के िलए सबसे छोटा और सबसे ब`ा bॉÊट 
आकार ·या है?

Options :

1.  8,64

2.  10,70

3.  8,72

4.  8,78

   

Question Number : 38 Question Id : 2549897487 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To control video and other media, which of the following is the key combination to go to the 

previous bookmark in MS PowerPoint?

Options :

1.  ALT+PAGEUP

2.  ALT+ENTER

3.  ALT+HOME

4.  ALT+BACKSPACE

   

Question Number : 38 Question Id : 2549897487 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

वीिडयो और अÊय मीिडया को िनयिंčत करने के िलए, MS PowerPoint मƶ िपछले बुकमाकµ  पर जाने के िलए िनÏन मƶ से कौन-सा 
एक कुंजी संयोजन है?

Options :

1.  ALT+PAGEUP

2.  ALT+ENTER

3.  ALT+HOME

4.  ALT+BACKSPACE



   

Question Number : 39 Question Id : 2549897885 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Microsoft PowerPoint, presentation designs regulate the formatting and layout for the slide and 

are commonly called:

Options :

1.  Templates

2.  Pictures

3.  Design plates

4.  Image holders

   

Question Number : 39 Question Id : 2549897885 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Microsoft PowerPoint Ēेजƶटेशन िडजाइन ×लाइट की फॉमƷिटɞग और लेआउट का िनयमन करती है और इसे आमतौर पर ______ 
कहा जाता है।

Options :

1.  Templates

2.  Pictures

3.  Design plates

4.  Image holders

   

Question Number : 40 Question Id : 2549898042 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A line chart is often used to visualize a trend in time series data. Thus the line is often drawn 

chronologically. In these cases line charts are known as:



Options :

1.  Doughnut chart

2.  Run chart

3.  Radar chart

4.  Area chart

   

Question Number : 40 Question Id : 2549898042 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक लाइन चाटµ का उपयोग अ·सर समय Ĝृंखला डेटा मƶ एक ĒवृिǶ की कÒपना करने के िलए िकया जाता है। इस Ēकार रेखा को 
अ·सर कालानुþिमक ƞप से खƭचा जाता है। ऐसी ि×थित मƶ लाइन चाटµ को ______  के ƞप मƶ जाना जाता है।

Options :

1.  डोनट चाटµ

2.  रन चाटµ

3.  रडार चाटµ

4.  एिरया चाटµ

   

Question Number : 41 Question Id : 2549898073 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct sequence of actions in MS Excel to 'change the location of the 

legend'?

Options :

1.  Click Font > Right click legend

2.  Click the chart > Click the Chart Element > Click Legend

3.  Left click legend > Click Font

4.  Click Font > Left click legend

   



Question Number : 41 Question Id : 2549898073 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत मƶ से कौन-सा MS Excel मƶ "लेजƶड के ×थान को बदलने (change the location of the legend)" के िलए 
िþयाǓ का सही þम है?

Options :

1.  फॉÊट पर ि·लक करƶ > लेजƶड पर दायाँ ि·लक करƶ

2.  चाटµ पर ि·लक करƶ> चाटµ एिलमƶट पर ि·लक करƶ > लीजƶड पर ि·लक करƶ

3.  लेजƶड पर बायाँ-ि·लक करƶ > bॉÊट पर ि·लक करƶ

4.  bॉÊट पर ि·लक करƶ  > लेजƶड पर बायाँ-ि·लक करƶ

   

Question Number : 42 Question Id : 2549898087 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A computer can perform millions of tasks or calculations with the same consistency and accuracy. 

It doesn’t feel any fatigue or lack of concentration. Its memory also makes it superior to that of 

human beings. 

 

Which of the following characteristics of a computer is described in above statement?

Options :

1.  Speed

2.  Accuracy

3.  Reliability

4.  Diligence

   

Question Number : 42 Question Id : 2549898087 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



एक कंËयूटर एक ही ि×थरता और सटीकता के साथ लाखǂ कायµ या गणना कर सकता है। यह िकसी भी थकान या एकाĀता की कमी 
महसूस नहƭ करता है। इसकी याददाÕत भी इसे इंसानǂ से बेहतर बनाती है। 
 

उपरोǣ कथन मƶ कंËयूटर की िनÏनिलिखत मƶ से कौन-सी िवशेषता का वणµन िकया गया है?

Options :

1.  चाल (×पीड)

2.  यथाथµता (ए·यूरेसी)

3.  िवȈसनीयता (िरलायिबिलटी)

4.  कमµठता (िडिलजƶस)

   

Question Number : 43 Question Id : 2549898095 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0
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In a ______ topology, each terminal is connected to exactly two other nodes, giving the network a 

circular shape.

Options :

1.  star

2.  mesh

3.  bus

4.  ring
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एक ______ टोपोलॉजी मƶ, ĒÆयके टिमɞनल ठीक दो अÊय नोड्स से जु̀ ा होता है, जो नेटवकµ  को एक वǶृाकार आकार देता है।

Options :

1.  ×टार

2.  मेश



3.  बस

4.  िरɞग
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If you want to format paragraph spacing in MS Word 2016, which of the following way is to 

perform it?

Options :

1.  Go to format group and select add / remove space

2.  Go to styles group

3.  Click on to font group

4.  Click on Line and Paragraph Spacing command from Paragraph group and select appropriate 

option
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यिद आप MS Word 2016 मƶ पैराĀाफ ×पेिसɞग को फॉमƷट करना चाहते हƹ, तो इसे िनÏन मƶ से िकस तरीके से करना होगा?

Options :

1.  फॉमƷट Āुप मƶ जाए ंऔर एड/िरमूव ×पेस चुनƶ

2.  ×टाइल Āुप मƶ जाएं

3.  फॉÊट Āुप पर ि·लक करƶ

4.  पैराĀाफ समूह से लाइन और पैराĀाफ ×पेिसɞग कमांड पर ि·लक करƶ और उपयुǣ िवकÒप चुनƶ
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What options are present in replace tab, when dialog box appears in MS Word?

Options :

1.  Find what and Replace with only

2.  Find what, Replace with, along with advance options like format, special options

3.  Find with only

4.  Replace with only
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MS Word मƶ िरËलेस टैब मƶ जब डायलॉग बॉ·स िदखाई देता है तो ·या िवकÒप उपि×थत होते हƹ?

Options :

1.  केवल Find what और Replace with

2.  Find what, Replace with, के साथ एडवांस ऑËशन जैसे format, special options

3.  केवल Find with

4.  केवल Replace with
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In a computer system, mouse is also known as:

Options :

1.  jerking device

2.  storage device

3.  pointing device

4.  output device
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एक कंËयूटर िस×टम मƶ, माउस को िकस ƞप मƶ जाना जाता है?

Options :

1.  जिकɞग िडवाइस

2.  ×टोरेज िडवाइस 

3.  पॉइंिटɞग िडवाइस

4.  आउटपुट िडवाइस
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A PivotTable is a powerful tool to calculate, ______, and analyze data that lets you see comparisons, 

patterns, and trends in your data.

Options :

1.  simple

2.  mark

3.  summarize

4.  assess
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PivotTable डेटा की गणना, ______ और िवȊेषण करने के िलए एक शिǣशाली टूल है िजससे आप अपने डेटा मƶ तुलना, पैटनµ और 
Ɲझान देख सकते हƹ।

Options :



1.  सरल

2.  माकµ

3.  सं³ेप

4.  आकलन
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When one has to switch between his/her pages (open application windows) in MS Windows, then 

which key combination should be used?

Options :

1.  Tab+Del

2.  Alt+Tab

3.  You cannot switch from programs

4.  Tab+Shift
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MS Windows मƶ अगर आपको आपके पेजेस के बीच ि×वच करना है (ओपन एËलीकेशन िवɞडो) तो आप िकस कुंजी संयोजन का 
Ēयोग करƶगे?

Options :

1.  Tab+Del

2.  Alt+Tab

3.  आप ĒोĀाम से ि×वच नहƭ कर सकते हƹ

4.  Tab+Shift
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Which of the following is NOT a financial category function in MS Excel?

Options :

1.  NOW()

2.  RATE()

3.  NPV()

4.  PMT()
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MS Excel मƶ इनमƶ से कौन सा फाइनƶिशयल कैटेगरी फं·शन नहƭ होता है?

Options :

1.  NOW()

2.  RATE()

3.  NPV()

4.  PMT()
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______ is essentially a live, interactive audio or audio-visual meeting between two or more users.

Options :

1.  Chat

2.  System

3.  Email



4.  Teleconferencing 
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________ अिनवायµ ƞप से दो या दो से अिधक उपयोगकताµǓ के बीच एक लाइव, इंटरैि·टव ऑिडयो या ऑिडयो-िवजुअल मीिटɞग है।

Options :

1.  चैट

2.  िस×टम

3.  ईमेल

4.  टेलीकांēƶ िसɞग
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Which of the following natural element is the primary element in computer chips also called as 

microchips?

Options :

1.  Oxygen

2.  Hydrogen

3.  Silicon

4.  Calcium
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िनÏनिलिखत मƶ से कौन-सा Ēाकृितक तÆव कंËयटूर िचËस िजसे माइþोिचËस भी कहा जाता है, मƶ Ēाथिमक तÆव है?



Options :

1.  ऑ·सीजन

2.  हाइĊोजन

3.  िसिलकॉन

4.  कैिÒशयम
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In which of the following scheduling algorithms, the jobs are executed on First Come First Serve 

(FCFS) basis?

Options :

1.  Shortest Job First

2.  First Come First Serve Scheduling

3.  Round Robin

4.  Priority Scheduling
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िनÏनिलिखत मƶ से िकस शǳेूिलɞग एÒगोिरदम मƶ, First Come First Serve (FCFS) के आधार पर कायµ िनÖपािदत िकए जाते हƹ?

Options :

1.  छोटा कायµ सबसे पहले (Shortest Job First)

2.  पहले आओ पहले रहो की शेǳूिलɞग (First Come First Serve Scheduling)

3.  राउंड रोिबन (Round Robin)

4.  Ēाथिमकता शǳेूिलɞग (Priority Scheduling)
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Read the given passage and answer the questions that follow. 

 

Panda 

 

The pictures of a giant panda appear quite frequently on leaflets and posters. This cuddly-looking, 

black and white animal is the official symbol of the World Wide Fund for Nature (WWF). The 

minimum estimated population of the giant panda is about 1,864. For many people, the giant 

panda has become a symbol of everything that is worth conserving in nature. 

 

The giant panda closely resembles a bear probably because millions of years ago, the two shared 

a common ancestor. Today, giant pandas are found only in the bamboo forests of Central China 



and in small numbers in Tibet. Bamboo forests provide them food, shelter as well as safety. 

 

Giant pandas spend most of their time wandering in the bamboo forests, chewing bamboo 

shoots. As they feed only on bamboo shoots and that too in huge quantities, there isn't always 

enough food for them. Though they can survive for long periods without their staple food, many 

are known to have died of starvation. 

 

Giant pandas are playful animals and can make a variety of sounds like chirping, huffing, snorting, 

bleating and even barking. Due to excessive hunting and destruction of their natural habitat, 

these exotic animals are nearing extinction. They can be seen only in zoos where we hope they can 

breed more of their kind. It is not an easy thing to take care of giant pandas in a zoo, for it would 

be difficult to find food to feed them. Besides, they don't breed easily in a zoo. 

 

When a baby panda is born, it is very tiny and weighs only 140 grams. The giant panda is a good 

mother. She feeds and nurses the baby lovingly. She is often found to cradle, stroke and play with 

her little cub. She also guards the infant closely carrying it carefully in her teeth or paw, if 

necessary. When the cub is about 18 months old and weighs about 45 kilograms, it is ready to live 

on its own.
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______ is one of the reasons why giant pandas are nearing extinction.

Options :

1.  Sharing a common ancestor with the bear

2.  Excessive hunting

3.  Shortage of zoos in cities

4.  Low weight at birth
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The giant panda CANNOT make a ______ sound.

Options :

1.  bleating

2.  chirping

3.  whistling

4.  barking
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The giant panda is a symbol of all that is well worth conserving in nature because it is ______.

Options :

1.  a cuddly, black and white animal

2.  the only animal that eats bamboo shoots

3.  one of the endangered animals in the world

4.  lives in the forests of Central China and Tibet
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It is difficult to take care of giant pandas in a zoo because ______.

Options :

1.  there is not enough space for them to move around

2.  it is difficult to find the right food for them

3.  baby pandas need their mothers to nurse them

4.  it is very big in size
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Which of the following statements about giant pandas is NOT true?

Options :

1.  It is the official symbol of the World Wide Fund for Nature (WWF).

2.  Bamboo forests provide them with food, shelter as well as safety.

3.  The young one of a panda is able to live independently when it is around 45 months old.

4.  They can survive for long without their staple food.
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Question Numbers : (53 to 57)

िनÏन गȁांश को पिaए और उसके आधार पर िदए गए Ēȋǂ के उǶर दीिजए: 
 

पांडा 
 

आपने एक िवशाल पांडा की त×वीरƶ अ·सर पचǄ और पो×टरǂ पर देखी हǂगी। मुलायम सा िदखने वाला यह काला और सफेद जानवर 
वÒडµ वाइड फंड फॉर नेचर (WWF)का आिधकािरक Ēतीक है। जंगली पांडा की Êयनूतम अनुमािनत जनसं¸या लगभग 1,864 है। कई 
लोगǂ के िलए, िवशाल पांडा Ēकृित मƶ संर³ण यो¹य सभी जीवǂ के िलए संर³ण का ही Ēतीक बन गया है। 
 

िवशाल पांडा भालू जैसा िदखता है ·यǂिक लाखǂ साल पहले दोनǂ के पूवµज एक ही थे। आज, िवशाल पांडा केवल मÉय चीन के बांस के 
जंगलǂ मƶ और बƓत कम सं¸या मƶ ितÍबत मƶ पाए जाते हƹ। बांस के जंगल उÊहƶ भोजन और आĜय के साथ ही सुर³ा भी Ēदान करते हƹ। 
 

िवशाल पांडा अपना अिधकांश समय बांस के जंगलǂ मƶ बांस की किलयां चबाते, घूमते Ɠए िबताते हƹ। चूंिक वे केवल बांस की किलयां ही 
खाते हƹ और वह भी ब`ी माčा मƶ, इसिलए हमेशा उनके िलए पयाµËत भोजन उपलÍध नहƭ रह पाता है। यȁिप वे लंबे समय तक अपने 
मु¸य भोजन के िबना जीिवत रह सकते हƹ, िफर भी कई पांडा भुखमरी की वजह से मर जाते हƹ। 
 

िवशाल पांडा चंचल जानवर है और वे चहचहाने की, िचaाने की, खराµटे मारने की, िमिमयाने की और यहां तक िक भǅकने की भी आवा_ƶ 



भी िनकाल लेते हƹ। अÆयिधक िशकार और उनके Ēाकृितक आवास के िवनाश के कारण यह िवदेशी जानवर िवलुËत होने के कगार पर है। 
उÊहƶ केवल िचि`याघर मƶ देखा जा सकता है जहां हम उÏमीद करते हƹ िक वे अपने जैसे ही और जानवरǂ का Ēजनन कर सकते हƹ। 
िचि`याघर मƶ िवशाल पांडा की देखभाल करना एक आसान बात नहƭ है, ·यǂिक वहां उÊहƶ िखलाने के िलए भोजन ढंूढना मुिÕकल होगा। 
इसके अलावा वे िचि`याघर मƶ आसानी से Ēजनन भी नहƭ करते हƹ। 
 

जÊम के समय पांडा बƓत छोटा होता है िजसका वजन भी केवल 140 Āाम होता है। िवशाल पांडा एक अ¼छी मां भी होती है। वह Ëयार 
से ब¼चे को िखलाती है और उसकी देखभाल करती है। वह अ·सर अपने छोटे शावक को गोद मƶ लेती है, उसे सहलाती है और उसके 
साथ खेलती है। यिद आवÕयक हो तो वह िशशु को अपने दाँत या पंजे मƶ सावधानी से ले जा कर उसकी र³ा भी करती है। जब शावक 
लगभग 18 महीने का हो जाता है और उसका वजन लगभग 45 िकलोĀाम हो जाता है, तो वह अकेले रहने के िलए तैयार हो चुका होता 
है।

Sub questions
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िवशाल पांडा आज िवलुिËत की कगार पर हƹ, िजसके कारणǂ मƶ से एक ______ है।

Options :

1.  उनका और भालू का पूवµज एक ही होना

2.  अÆयिधक िशकार

3.  शहरǂ मƶ िचि`याघरǂ की कमी

4.  जÊम के समय उनका वजन बƓत कम होना
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िवशाल पांडा ______ की Éविन नहƭ िनकाल सकता है।

Options :

1.  िमिमयाने

2.  चहचहाने



3.  सीटी बजाने

4.  भǅकने
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िवशाल पांडा Ēकृित मƶ संर³ण के िलए सभी संर³ण यो¹य जीवǂ के संर³ण का Ēतीक है, ·यǂिक ______।  

Options :

1.  यह एक मुलायम काला व सफेद पशु है

2.  यह एकलौता जानवर है जो बांस की किलयां खाता है

3.  पांडा लËुतĒाय जानवरǂ मƶ से एक है

4.  यह मÉय चीन और ितÍबत के जंगलǂ मƶ रहता है
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िचि`याघर मƶ िवशाल पांडा की देखभाल करना मुिÕकल है, ·यǂिक _______।

Options :

1.  यहां पांडा को घूमने के िलए पयाµËत जगह नहƭ िमलती है

2.  यहां उनके िलए उपयुǣ भोजन खोजना मुिÕकल है

3.  िशशु पांडा को उसकी मां की देखभाल की _ƞरत होती है

4.  यह आकार मƶ बƓत ब`ा होता है

 

Question Number : 57 Question Id : 25498921048 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िवशाल पांडा के संबंध मƶ िनÏनिलिखत मƶ से कौन से कथन सही नहƭ है?



Options :

1.  यह वÒडµ वाइड फंड फॉर नेचर (WWF) का आिधकािरक Ēतीक है।

2.  बांस के जंगल उÊहƶ भोजन, आवास और सुर³ा Ēदान करते हƹ।

3.  शावक पांडा 45 महीने का हो जाने पर ×वतंč ƞप से रह सकता है।

4.  वे अपने मु¸य भोजन के िबना कई िदनǂ तक जीिवत रह सकते हƹ।
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Section Id : 2549896383
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Question Number : 58 Question Id : 25498914286 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Options :

1.  110

2.  90

3.  200

4.  125

   

Question Number : 58 Question Id : 25498914286 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 59 Question Id : 25498928845 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seema, Meena and Reema begin to jog around a circular stadium in the same direction and they 

complete their revolutions in 54 seconds, 42 seconds and 63 seconds, respectively. They start from 

the same point. After approximately how many minutes will they come together at the starting 

point?



Options :

1.  8

2.  10

3.  3

4.  6

   

Question Number : 59 Question Id : 25498928845 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

सीमा, मीना और रीमा एक ही िदशा मƶ एक वृǶाकार ×टेिडयम के चारǂ ओर दौ`ना शƞु करते हƹ और वे þमशः 54 सेकंड, 42 सेकंड 
और 63 सेकंड मƶ अपना एक च·कर पूरा करते हƹ। वे एक ही िबɞƟ से शुƞ करते हƹ। लगभग िकतने िमनट बाद वे आरिंभक िबɞƟ पर एक 
साथ आएगें?

Options :

1.  8

2.  10

3.  3

4.  6

   

Question Number : 60 Question Id : 25498928895 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the value of the given expression? 

 

(4444 ÷ 40) + (645 ÷ 25) + (3991 ÷ 26)

Options :

1.  280.4

2.  290.4

3.  295.4

4.  285.4



   

Question Number : 60 Question Id : 25498928895 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत ȅंजक का मान ·या होगा? 

 

(4444 ÷ 40) + (645 ÷ 25) + (3991 ÷ 26)

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 61 Question Id : 25498928958 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Three men A, B and C start a business together. They invest ₹30,000, ₹24,000 and ₹42,000, 

respectively, in the beginning. After 4 months, B took out ₹6,000 and C took out ₹10,000. They get 

a profit of ₹11,960 at the end of the year. B’s share in the profit to a nearest rupee is:

Options :

1.  ₹2,700

2.  ₹2,803

3.  ₹2,900

4.  ₹2,785

   



Question Number : 61 Question Id : 25498928958 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

तीन आदमी A, B और C एक साथ एक ȅापार शƞु करते हƹ। वे शुƝआत मƶ þमशः ₹30,000, ₹24,000 और ₹42,000 का िनवेश 
करते हƹ। 4 महीने बाद, B ने ₹6,000 और C ने ₹10,000 िनकाले। उÊहƶ वषµ के अंत मƶ ₹11,960 का लाभ ĒाËत होता है। िनकटतम 
Ɲपये के लाभ मƶ B का िह×सा ´ात करƶ।

Options :

1.  ₹2,700

2.  ₹2,803

3.  ₹2,900

4.  ₹2,785

   

Question Number : 62 Question Id : 25498928961 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In an examination, 30% of the total students failed in Hindi, 45% failed in English and 20% failed in 

both the subjects. Find the percentage of those who passed in both the subjects.

Options :

1.  35.7%

2.  35%

3.  40%

4.  45%

   

Question Number : 62 Question Id : 25498928961 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 63 Question Id : 25498929449 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At the marked price of 72 pens, a retailer buys 80 pens. If he gives 2% discount on the marked 

price, his profit percentage is:

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 63 Question Id : 25498929449 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Options :

1.   

 

2.   

 

3.   

 

4.   
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Question Number : 64 Question Id : 25498912855 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

नीचे िदए गए Ēतीक-अ³र-सं̧ या अनुþम के संदभµ मƶ Ēȋ का उǶर दƶ: 
 

2 P J @ 8 $ L B 1 V # Q 6 § G W 9 K C D © • £ 5 F R 7 A Y 4 

 

उपरोǣ अनुþम के आधार पर िनÏन चार िवकÒपǂ मƶ से तीन उनकी ि×थित के आधार पर एक िनिȆत तरीके से समान हƹ और एक समूह 
का िनमाµण करते हƹ। िनÏनिलिखत मƶ से कौन सा िवकÒप उस समूह से संबंिधत नहƭ है?

Options :

1.  Q K 5

2.  $ 6 D

3.  P B §

4.  1 G ©

   

Question Number : 64 Question Id : 25498912855 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the given symbol-letter-number sequence and answer the question that follows. 

 

2 P J @ 8 $ L B 1 V # Q 6 § G W 9 K C D © • £ 5 F R 7 A Y 4 

 

Three of the following four options are similar in relation to their positions in the above sequence 

and hence form a group. Which one does NOT belong to that group?

Options :

1.  Q K 5

2.  $ 6 D

3.  P B §

4.  1 G ©

   



Question Number : 65 Question Id : 25498912869 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

नीचे िदए गए शÍद मƶ अ³रǂ के ऐसे िकतने य¹ुम हƹ, िजनमƶ से ĒÆयेक के बीच उतने ही अ³र हƹ िजतने अंĀेजी वणµमाला मƶ उनके बीच हƹ? 

 

ORIENTAL

Options :

1.  शूÊय

2.  एक

3.  दो

4.  तीन

   

Question Number : 65 Question Id : 25498912869 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out how many such pairs of letters are there in the given word each of which has as many 

letters between them in the word as in the English alphabet. 

 

ORIENTAL

Options :

1.  Nil

2.  One

3.  Two

4.  Three

   

Question Number : 66 Question Id : 25498918974 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



I तथा II मƶ पहले से िदए गए शÍदǂ मƶ से िनÏन शÍद-य¹ुमǂ मƶ ĒÆयके के िलए एक-एक शÍद का चयन कर उसके अनुƞप िवकÒप का 
चयन कीिजए। 
 

I : कभी नहƭ :: सभी : II 
 

I. (1) हमेशा (2) सामाÊयतः (3) शायद ही कभी (4) Ēायः  
II. (A) कोई नहƭ (B) संपूणµ (C) ĒÆयके (D) कुल

Options :

1.  1A

2.  2B

3.  4A

4.  4D

   

Question Number : 66 Question Id : 25498918974 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following pair, find two words related to the words already given – one word for each of the 

two related pairs. 

 

I : Never :: All : II 

 

I. (1) Always (2) Usually (3) Seldom (4) Often 

II. (A) None (B) Whole (C) Every (D) Total

Options :

1.  1A

2.  2B

3.  4A

4.  4D

   

Question Number : 67 Question Id : 25498919811 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक िनिȆत कूट भाषा मƶ यिद: 
 

‘A$B’ का अथµ ‘B की माता A है’; 
‘A#B’ का अथµ ‘B का िपता A है’; 
‘A@B’ का अथµ ‘B का पित A है’; 
‘A%B’ का अथµ ‘B की पुčी A है’; 
 

तो िनÏनिलिखत मƶ से कौन सा ȅंजक यह ȅǣ करता है िक ‘H की बहन R है‘?

Options :

1.  H$D@F#R

2.  R%D@F$H

3.  R$D@F#H

4.  H%D@F$R

   

Question Number : 67 Question Id : 25498919811 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, if 

 

‘A$B’ means ‘A is the mother of B’; 

‘A#B’ means ‘A is the father of B’; 

‘A@B’ means ‘A is the husband of B’; 

‘A%B’ means ‘A is the daughter of B’, 

 

then which of the following expressions indicates ‘R is the sister of H’?

Options :

1.  H$D@F#R



2.  R%D@F$H

3.  R$D@F#H

4.  H%D@F$R

   

Question Number : 68 Question Id : 25498920113 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत Ēȋ मƶ, चार शÍद िदए गए हƹ िजनमƶ से तीन िकसी तरह से एक समान हƹ जबिक चौथा असंगत है। असंगत शÍद की पहचान 
करƶ।

Options :

1.  आकषµक

2.  सÏमोहक

3.  कȌकारक

4.  मोहक

   

Question Number : 68 Question Id : 25498920113 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. 

Select the one that is different.

Options :

1.  Captivate

2.  Charm

3.  Offend

4.  Fascinate

   

Question Number : 69 Question Id : 25498927874 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 



: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to 

the first word. 

 

Racing : Fatigue :: Fasting : ?

Options :

1.  Food

2.  Appetite

3.  Hunger

4.  Cramps

   

Question Number : 69 Question Id : 25498927874 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏन मƶ से उस िवकÒप का चयन कीिजए िजसका तीसरे शÍद से वही संबंध है जो संबंध Ơसरे शÍद का पहले शÍद से है। 
 

दौ` : थकान :: ěत : ?

Options :

1.  भोजन

2.  ƞिच

3.  भूख

4.  कम_ोरी

   

   

GENERAL AWARENESS
Section Id : 2549896385

Section Number : 5

Section type : Online
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Clear Response :
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Question Number : 70 Question Id : 2549899808 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following and select the correct option by using the given codes. 

 

Event Person

A. Doctrine of Lapse 1. Curzon

B. Partition of Bengal 2. Clive

C. Dual Government in Bengal 3. Dalhousie

D. Social Reforms 4. Bentinck

Options :

1.  A-2, B-3, C-1, D-4

2.  A-3, B-1, C-4, D-2

3.  A-3, B-1, C-2, D-4

4.  A-2, B-3, C-4, D-1

   

Question Number : 70 Question Id : 2549899808 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

िनÏनिलिखत का िमलान करƶ और नीचे िदए गए कोड का उपयोग करके सही उǶर का चयन करƶ। 
 

घटना ȅिǣ

A. ȅपगत का िसǽाÊत (Doctrine of Lapse) 1. क_µन

B. बंगाल का िवभाजन 2. ·लाइव

C. बंगाल मƶ ्ैषध शासन 3. डलहौ_ी

D. सामािजक सुधार 4. बƶिटक

Options :

1.  A-2, B-3, C-1, D-4

2.  A-3, B-1, C-4, D-2

3.  A-3, B-1, C-2, D-4

4.  A-2, B-3, C-4, D-1

   

Question Number : 71 Question Id : 2549899824 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following is the author of a collection of poems called ‘The Golden Threshold’?

Options :

1.  Aruna Asaf Ali

2.  Annie Besant

3.  Sarojini Naidu

4.  Vijayalaxmi Pandit

   

Question Number : 71 Question Id : 2549899824 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

'द गोÒडन ĎैशोÒड (The Golden Threshold)' नामक किवताǓ के संĀह के लेखक/लेिखका िनÏनिलिखत मƶ से कौन हƹ?

Options :

1.  अƝणा आसफ अली

2.  एनी बेसƶट

3.  सरोिजनी नायडू

4.  िवजयलÛमी पंिडत

   

Question Number : 72 Question Id : 25498912529 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Ozone layer above the surface of the earth provides a shield against:

Options :

1.  X-rays

2.  ultra-violet rays

3.  gamma rays

4.  infrared rays

   

Question Number : 72 Question Id : 25498912529 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

पृÇवी के सतह के ऊपर ि×थत ओ_ोन परत, िनÏनिलिखत मƶ से िकसके िखलाफ सुर³ा Ēदान करती है?

Options :

1.  ए·स-रे

2.  अÒĈा वायलट रे

3.  गाÏमा रे

4.  इÊēा-रे̀  रे

   



Question Number : 73 Question Id : 25498912758 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The XXVII (1996) Summer Olympic Games were held in:

Options :

1.  Los Angeles

2.  Moscow

3.  Atlanta

4.  Tokyo

   

Question Number : 73 Question Id : 25498912758 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

XXVII (1996) समर ओलंिपक खेलǂ का आयोजन कहाँ िकया गया था?

Options :

1.  लॉस एजंिेलस

2.  मा×को

3.  अटलांटा

4.  टो·यो

   

Question Number : 74 Question Id : 25498932510 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The National Agricultural Insurance Scheme that replaced the Comprehensive Crop Insurance 

Scheme was introduced in the year:

Options :

1.  1997-1998



2.  1993-1994

3.  1999-2000

4.  2001-2002

   

Question Number : 74 Question Id : 25498932510 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ȅापक फसल बीमा योजना (Comprehensive Crop Insurance Scheme) का ×थान लेने वाली राȍीय कृिष बीमा योजना 
िकस वषµ लागू की गई?

Options :

1.  1997-1998

2.  1993-1994

3.  1999-2000

4.  2001-2002
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Which of the following is empowered to implement fundamental rights by the Constitution?

Options :

1.  All courts in India

2.  Parliament

3.  President

4.  Supreme Court and High Courts

   

Question Number : 75 Question Id : 25498932584 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

संिवधान ्षारा िदए गए मौिलक अिधकारǂ को लागू करने की शिǣ इनमƶ से िकसे दी गई है?

Options :

1.  भारत के सम×त Êयायालय

2.  संसद

3.  राȍपित

4.  उ¼चतम Êयायालय और उ¼च Êयायालय
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Summer camps are supervised camps conducted to entertain as well as equip students with 

various life skills such as teamwork, socializing, decision making, independent and 

responsible living and more. It aids the overall development of a child and children have fun 

during this process as they get to explore new arenas.
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Learning new skills at any age reaps a huge amount of benefits, such as increasing our 

sense of accomplishment and personal growth. But, the most important thing to remember 

is that we all are different when it comes to learning new information and skills. This means 

that people have the potential to excel with different cognitive abilities and therefore, learn 

effectively in completely different ways. Understanding your learning technique and 

utilizing it will allow you to become more knowledgeable on the subject you are learning. 

Once discovered, make this your main source of learning, making sure you throw in some 

alternative ways for optimal results. With this in mind, here are some of the most effective 

ways for retaining information and gaining the skills that you have learned. Memory tactics. 

Memorizing information can come more easily to some than others. If you struggle with 

retaining key points, then improving your focus is one way of dealing with this. Many 

studies have shown that listening to certain type of music not only increases productivity 

but also helps to focus the mind and retain information. You must also pay attention to how 

you structure your time. Structured study sessions over a period of time allows you to 

process the information more adequately. Our brain grasps more information through small 

regular sessions than one long marathon. Relatable learning. Relating and applying what 

you have learned is an effective way to understand new information. By doing this, you 

allow your brain to see connections through experience and previous knowledge, thereby 

allowing the new information to stick in your mind. Explain what you have learned to 

someone else. Another great method is to explain the new information to someone else. 

Doing this, reinforces what you have learned in your mind, allows you to pinpoint any gaps 

in information that you may not have understood, and helps you translate the information 

into your own words and in a way that others can understand. This is an effective way to 

test whether or not your techniques are working for you. Start a blog, create a presentation 

or participate in discussions on the subject to solidify your knowledge. Try different 

methods of learning. Do not limit yourself to just one method of learning. The brain needs 

stimulation and even if one method is very effective, you can run the risk of getting bored. 

This is the point where your motivation level can drop down. Therefore, it is advised to 

practice your leaning method while mixing it up with reading, watching related video clips, 

practical sessions, and explaining it to others. To become more knowledgeable in your 

chosen subject and learn effectively, your leaning method must include a variety of verbal 

and visual parameters. Always remember that becoming an efficient learner takes time. So, 

be patient with yourself and focus on one method at a time to allow yourself to find out 

what suits you. Motivation is key. Do whatever you can to keep your motivation level high. 



Lastly, focus on the small, steady and effective steps to get you to the next level.
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एक बार की बात है, अकबर और बीरबल िशकार पर जा रहे थे। अभी कुछ समय की उÊहƶ एक िहरण िदखा। जÒदबाजी मƶ तीर िनकालते 
Ɠए अकबर अपने हाथ पर घाव लगा बैठा। अब हालात कुछ ऐसे थे की अकबर बƓत ददµ मƶ था और गु×से मƶ भी।
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नदी भूतल पर Ēवािहत होने वाली एक जलधारा है। जो Ēाय िकसी झील व िहमनद या झरने या बािरश के पानी से बनती है तथा अंत मƶ 



िकसी सागर अथवा झील मƶ जा िमलती है। इसे सिरता व तिटनी भी कहा जाता हƹ। Ēमुख ƞप से निदयां दो Ēकार की होती हƹ। इनमƶ 
पहली सदानीरा Ơसरी बरसाती कहलाती हƹ। सदानीरा निदयां हमेशा झीलǂ व झरनǂ अथवा िहमनदǂ से िनकलती है या पैदा होती है और 
वषµ भर जलपणूµ रहती हƹ। जबिक बरसाती निदयां बरसात के पानी पर िनभµर करती हƹ। गंगा व यमुना तथा कावेरी और नील आिद 
सदानीरा निदयां हƹ। नदी के साथ इंसान का गहरा संबंध रहा है। निदयǂ से केवल फसल ही नहƭ उपजाई जाती है अिपतु वे एक समाज 
िवशेष को पैदा करती है और िफर उसका पालन पोषण करती है। इसिलए इंसान हमेशा नदी को देवी अथवा मां के ƞप मƶ देखता आया 
है। हमारे अतीत मƶ ऋिष व मुिनयǂ ने इन निदयǂ के िकनारे रहकर ही ´ान को पाया। अभी भी बडे बडे िवकिसत महानगर निदयǂ के 
िकनारे बसे हƹ। मानव Ēजाित निदयǂ के िकनारे ही फली फूली है। Ēकृित से िवकिसत एवं लगातार पिरमािजɞत मागµ पर बहते पानी की 
अिवरल धारा ही नदी है। िजसे कई बार बरसात भी पैदा करती है। निदयां आमतौर पर िहमनदǂ व पहाडǂ अथवा झरनǂ से िनकलकर 
सागर अथवा झील मƶ समा जाती है। इस याčा मƶ उसे अनेक सहायक निदयां िमलती हƹ। नदी और उसकी सहायक निदयां िमलकर नदी 
तंč बनाती है। िजस इलाके का सारा पानी नदी तंč को िमलता है वह इलाका जल िनकास घाटी यािन वाटरशेड कहलाता है। नदी जल 
िनकास घाटी पर बरसे पानी को एकिčत करती है। उसे Ēवाह मƶ शािमल कर आगे बढती है। वही उसके पानी की Ēगित का आधार होता 
है। नदी को अपनी याčा मƶ बाढ के पानी के अलावा भू जल से संबंिधत दो Ēकार के माहौल िमलते हƹ। पहला माहौल िजसमƶ भू जल 
भंडारǂ का पानी बाहर आकर नदी को िमलता है। Ơसरा माहौल िजसमƶ नदी मƶ बहते Ēवाह का पूरा या कुछ भाग िरसकर भू जल भंडारǂ 
को िमलता है। नदी दोनǂ ही माहौलǂ का सामना करते Ɠए आगे बढती है। नदी का Ēवाह माटी के कटाव व चटटानǂ के बबाµद होने से 
िमलने वाले मलबे तथा व³ृǂ व पौधǂ के बचे खुचे भागǂ को बहाकर आगे ले जाता है। उसका एक भाग सतही रन आफ और Ơसरा भाग 
भू जल Ēवाह कहलाता है। Ēवाह के इस िवभाजन को Ēकृित िनयंिčत करती है। बरसात मƶ सतही रन आफ और बाकी िदनǂ मƶ धरती की 
कोख से िरसा भू जल ही नदी मƶ बहता है। अनुमान है िक नदी तल के उपर बहने वाले रन आफ और नदी तल के नीचे बहने वाले भू जल 
का अनुपात है आठ अनुपात एक। वणµनीय है िक भू जल Ēवाह बल के Ēभाव से जल लगातार िनचले इलाको की ओर बहता है। उसकी 
इस याčा मƶ कुछ पानी नदी के Ēवाह के ƞप मƶ सतह पर तथा बाकी भाग नदी तल के नीचे नीचे चलकर समुď मƶ समा जाता है। नदी के 
सूखने के बावजूद नदी तल के नीचे पानी का Ēवाह बना रहता है। नदी अपने जलĀहण ³ेč पर बरसे पानी को बडी नदी व झील अथवा 
समुď मƶ जमा करती है पर कभी कभी उसके मागµ मƶ रेतीले ³ेč आ जाते है और वह सूख जाती है।
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